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1. Select the correct answer from the following
alternatives : 1x5=5
(a) The objective of operations research is
(i) to find new methods of solving
problems
(ii) to derive formulas
(iij) optimal utilization of existing
resources
(iv) to utilize the services of scientists
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(2)

(b) The slack variables indicate

() excess resource available

(i) shortage of resource available

(iii) no resources available

(iv) idle resource available

(c) The total number of allocation in a basic

feasible solution of g transportation
problem of size mxn is equal to

() mxn - .
@ (m/n)-1

(iii) m+n+1

(v) m+n-1
(d) Consider the following two-person game
and determine the saddle point if it

Coexists o
b1 Yo
SoX frras cgesinh <
RRE.C IR S-SRI < T
piaaloy e
(l) X1Y2 TR s b L veenn
- (u)lel A
' (i) X,Y,

*+ (i) There is no saddle point
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(e) Economic order quantity is the tool for
controlling

' (i) inventory
(i) labour
(iii) expenses’
(iv) None of ':the" above "
2. Answer the following questions in brief :
" ; 2x5=10

- (@) Define convex set with an example.
(b) Define artificial variables.

(c) What do you mean by. non-degenerate
basic  feasible solution  in a
transportatxon problem?

(d) Define pay of matrix in game theory.

(e/ What is set-up cost in inventory
‘ problem?

| 3. (a) Solve graphically the following LPP : 4
L Maximize z=40x, +80x,
" subject to the constraints
2x; +3x, <48
x; €15
xy £10
x;, Xg 20
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(b) Obtain the dual of the following LPP :
MaXiIniZC Z=2x1 +5x2 +6X3
subject to the constraints

SxL +6x, - 7 X3 < 3

Vi

‘2x1+X2 +4x3 <4 o .
5x2 t3x3 <1, o

‘3x1 "3X2 + 7x3 <6
- X1, X3, X320

(@) UsE” Sithplex “inethod - 16" s‘;;iy‘e the
~ following LPP S e

Maximize 2= dxy £105%
subject to the constraints’

2x; +x5 <50 ., ...

2x; +5x5 <1007 jsiy

2x, +3x, <90 et

L patectln sl ppimOitgee avion G L4
A S K R AT e L AP

) -.:;\"_xf-",!."l.'or K

otes

(b) Describe the computatxonal procedure
of simplex two-phase method.
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5. (a) Write down the mathematical
formulation of assignment problem.

q | Explain  the difference  between
y transportation problem and assignment
problem.

Consider the problem of assigning five
jobs to five persons. The assignment

Costs are given as follows : 3+2+6=11
Jobs

L1 2 3 4 5

A | 8 4 2 6 1

B 0 9 5 5 4

Persons (¢ 3 8 9 2 6
D 4 '3 1 0 3

E 9 5 8 9 5

Or

(b) What are the different methods of
finding the initial basic feasible solution
of a transportation problem? Solve the
following transportation problem in
which cell entries represent unit costs :

2+9=11
To : Available
2 7 4 5
3 3 1 8
From ) 4 7 7
1 6 2 14
Required 7 9 18
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6. (@) Solve the

following 2x4
graphically .

game

Player g

5
J
-
Or
) What is €conomic order Quantity
(E0Q) » hat are the assumptiong of
EOQ mogelp 5
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